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(F:E ) 9~123—F
A/S—F 1 2 3 4 =T R & 5z

1 SEDESA 3—0 3—0 4 1

2 nELB 2

3 (FASEFA 0—3 3—0 3 2

4 HRI<~<C 0—3 0—3 2 3

13~163—hk

B/S—Fk 1 2 3 4 T R I 15z

1 HRIYYA 3-0 3—-0 3—0 6 1

2 SENDESB 0—3 1—2 3—0 4 3

3 RFEHIS 0—3 2—1 —1 5 2

4 Nl 0—3 0—3 1—2 3 4

1~23—k

C/8—F 1 2 3 T R IE 1z

1 DELA 3—-0 2—1 4 1

2 | GOODLUCK 0—3 1—2 2 3

3 BR~<~<B 1—2 2—1 3 2




(2 & )

3~43—k
AsS—F 1 2 3 /8 & fiz
IRIKL5A 3-0 0-3 3 2
#ERITD 0-3 0-3 2 3
HUITE 3-0 3-0 4 1
5~63—Fk
B/s—F 1 2 3 /8 & fiz
SEDES 0-3 0-3 2 3
(FASREZFA 3-0 2-1 4 1
1185 5B 3-0 1-2 3 2
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(3 & )

17~183—hk
AsS—F 1 2 3 /8 IE {5z
HLELA 0-3 3-0 3 2
#ERYIT 3-0 3-0 4 1
N wle 0-3 0-3 2 3
19~203—hk
B/S—F 1 2 3 /8 JE {5z
KIEIZTA 3-0 3-0 4 1
IKIKB A5 0-3 2-1 3 2
T—ONE B 0-3 1-2 2 3
21~223—k
C/8—h 1 2 3 /8 JE {5z
B/ S 7— L 3-0 3-0 4 1
HLELB 0-3 2-1 3 2
IHhOMA 0-3 1-2 2 3
23~243—}
D/S—k 1 2 3 /8 & fiz
f=AIXIZEA 2-1 3-0 4 1
NP =] 1-2 2-1 3 2
BRIZT 0-3 1-2 2 3
25~263—F
E/S—k 1 2 3 /8 & fiz
HRI<<TA 3-0 3-0 4 1
KIER 0-3 2-1 3 2
=AIFIEB 0-3 1-2 2 3
27~283—F
F/s—k 1 2 3 /& & fiz
T—ONE A 3-0 2-1 4 1
REHI5B 0-3 1-2 2 3
HmTLZ 1-2 2-1 3 2
29~303d—Fk
G/S\—hk 1 2 3 /8 IE {5z
RFHISA 3-0 3-0 4 1
BR~<~<B 0-3 2-1 3 2
IhHnB 0-3 1-2 2 3




